
Multiply and Divide by 10⁻³ (D)Find each product or quotient.
6.4407 × 10⁻³ = 5.1 ÷ 10⁻³ =
5.457 × 10⁻³ = 5.4155 ÷ 10⁻³ =
0.7246 ÷ 10⁻³ = 2.15 ÷ 10⁻³ =
9.1582 × 10⁻³ = 1.8892 ÷ 10⁻³ =
2.5343 ÷ 10⁻³ = 8.39 ÷ 10⁻³ =
7.6 × 10⁻³ = 9.89 × 10⁻³ =
3.3 ÷ 10⁻³ = 6.37 × 10⁻³ =
1.2557 ÷ 10⁻³ = 0.9893 × 10⁻³ =
6.9 × 10⁻³ = 8.63 × 10⁻³ =
9.7967 × 10⁻³ = 7.5 ÷ 10⁻³ =
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Multiply and Divide by 10⁻³ (D) AnswersFind each product or quotient.
6.4407 × 10⁻³ = 0.0064407 5.1 ÷ 10⁻³ = 5,100
5.457 × 10⁻³ = 0.005457 5.4155 ÷ 10⁻³ = 5,415.5
0.7246 ÷ 10⁻³ = 724.6 2.15 ÷ 10⁻³ = 2,150
9.1582 × 10⁻³ = 0.0091582 1.8892 ÷ 10⁻³ = 1,889.2
2.5343 ÷ 10⁻³ = 2,534.3 8.39 ÷ 10⁻³ = 8,390
7.6 × 10⁻³ = 0.0076 9.89 × 10⁻³ = 0.00989
3.3 ÷ 10⁻³ = 3,300 6.37 × 10⁻³ = 0.00637
1.2557 ÷ 10⁻³ = 1,255.7 0.9893 × 10⁻³ = 0.0009893
6.9 × 10⁻³ = 0.0069 8.63 × 10⁻³ = 0.00863
9.7967 × 10⁻³ = 0.0097967 7.5 ÷ 10⁻³ = 7,500
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